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NUV-HD High Fill Factor

Size 3x3 mm?

IV characterization. Breakdown voltage VS Temperature

Temperature test: from -10 to 10 °C (with laser) from -20 to 30 °C (Dark)
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IV Analysis: Forward polarity

Temperature 10 °C

Temperature 20 °C
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Analysis

Reverse polarity

1 {nA)

q= (310143 4- 0.0146227)

m = (0.0345328 +- 0.000666313)

Inverse current

q= (0263754 +- 0.248301)
m = {0.159867 +- 0.0080687)
& = (3536.23 +- 8.27605)
b = (-225.747 +- 0.462044)
© = (360566 + 0.00700506)
Vbd = (32,0631 +- 0.00585596) V

Inverse current

1 {nA)

Inverse current

Q= (-0.148734 +- 0.180103)
m = (0.0750022 +- 0.00585271)
&= (1317.27 +- 0.436001)
b= (-83.8317 4- 0.0248339)
© = (1.33583 +- 0.000370288)
Vbd = (31.6522 +- 0.00585596) ¥

q= (0:0863647 +- 0.281066)
m = (0.0255446 +- 0.00252046)
&= (577.301 +-0.201280)
b= (366764 +- D.0175351)
© = (0589603 +- 0.000261418)
Vbd = (31.373 +- 0.00485485) V
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Charge (pC)
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Light Analysis: 38 V

Waveform
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Light Analysis (Amplitude
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Light Analysis (Amplitude
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Light Analysis (Integration time 15 ns

charge t15 histogram - Gain
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Light Analysis (Integration time 15 ns) : 38 V
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Light Analysis (Integration time 20 ns

charge t20 histogram - Gain
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Light Analysis (Integration time 20 ns) : 38 V

CHARGE DISTRIBUTION - tmax 20

: Entries 9;54
- | =10 ° Mean  0.4045
C " RMS 0.2185
~ 1

| | 1 1 1

0 0.2

. C[pC]
CHARGE DISTRIBUTION - tmax 20 - Poisson

2 |, -10°

£
0

300

250

200

50

0.16

0.14

0.12

0.

—

0.08

0.06

0.04

0.02

CHARGE DISTRIBUTION - tmax 20

CHAAGE DISTRIBUTION - 1nax 20
— Entries 9903
- 0° Mean  0.4464
C RMS _ 0.2221
| 1 1 | 1 1
0 0.2

. CIp(C]
CHARGE DISTRIBUTION - tmax 20 - Poisson

o HT

300

250

200

150

100

50

0.2

0.18

0.16

0.14

0.12

0.

-y

0.08

0.06

0.04

0.02

CHARGE DISTRIBUTION - tmax 20

__ Entries 9;59
— 10 ° Mean  0.4318
C RMS 0.2117
_l 1 1 | 1
0 0.2
C [pC

CHARGE DISTRIBUTION - tmax 20 - Poisson [p ]
= 10 °
:Illllll\I|IIII|III\|IIII‘IIIIlIIIIl\IIIlIIII
0 1 2 3 4 5 6 7 8

11
#p.e.




Light Analysis (Integration time 30 ns

charge t30 histogram - Gain charge t30 histogram - Poisson cross-talk
[r— ,-t—
) | 2= 0.35 1
Gci 0.16 4
R & ‘ 0.30 -
% 0.14 2
[Sa— _,??_ 0.25 4
2
E 0.12 1 =
< 0.20
O Xl
0.10 A # 0.15 -
&
F— 0.10 -
0.08 *
v + T -10 C Gain 0.014 pC/p.e.
i + T 0CGain 0.014 pC/p.e. i
X 0.05
0.06 A 5 <+ T:10 C Gain 0.014 pC/p.e.
charge t30 histogram - SNR charge t30 histogram - Poisson lambda
m qj 5.00
Z 16 o
(d)p) H= 475
141 4.50 -
12 1 4.25 4
10 4 4.00 -
g 3.75 A
6 4 3.50
3.25
4 1 T T T T T T T T
4 6 8 10 12 4 6 8 10

ov [V] ov [V]



Light Analysis (Integration time 30 ns) : 38 V

CHARGE DISTRIBUTION - tmax 30
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Light Analysis (Integration time 40 ns
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Light Analysis (Integration time 40 ns) : 38 V

CHARGE DISTRIBUTION - tmax 40

CHAAGE DISTRIBUTION - wrax 40
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Light Analysis: 37 V
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Light Analysis (Integration time 15 ns) : 40 V
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Light Analysis (Integration time 15 ns) : 42V
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Light Analysis (Integration time 20 ns) : 40 V
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Light Analysis (Integration time 20 ns) : 41 V
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Light Analysis (Integration time 20 ns) : 42 V
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Light Analysis (Integration time 30 ns) : 36 V
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Light Analysis (Integration time 30 ns) : 40 V
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Light Analysis (Integration time 40 ns) : 38 V
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Light Analysis (Integration time 40 ns) : 42 V
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